KB A e R EN ST T 35 B

FMTE6R/108 (K)

8 % |SEKED| SAkEN| MIKEN| & i - =
W % E (e | 69200 8100  20,100] 97,400 EKET| A RKE T LK ET
HRe | Ba | &b
R E] . . & = % & 8 -
Igﬁa?ﬁkmg‘“ E & | + B | & & £ &5 E
(EHKED)
{2ECH 613 Tke 3,780 =] 3.240 1| 2700 || MmL EE ft
T 345 Tke 900 | 00 1| =8
B 2.076] ke 186 | 378 || FEalL Lo fe
o 3,385 Tk 378 | 210 1| BRB BN fo
FDL 2,704 ke 324 | 216 1| 7=
EFTT) 320 ke 2,550 1 7100 || BRB BA it
Py 2953 Tke 756 1 520 || BRB =W it
T 3019 ke 1296 | 520 1| mm o
=ho 76| Tke 1,728 1 1512 1| Bu o
PR 326|  1ke 510 — 324 | EE
EREE5 200 ke 1836 1| 1,728 864 1| ma o
ERDAED 668 Tke 2700 1| 2268 864 || BERB
FHHLM 1, 545 1kg 972 — 864 —| HIJII b
(A¥-3-3 422 1kg 972 — 7156 - R =F
57 2579 ke 1944 | 1728 1| =8 o
5 1062 ke 1,620 | 1080 1| B &
By 535 Tke 1,296 — 324 = LmE TE fo
i 360 Tke 1,944 = 7620 1| mE 2 fo
(R EKED)
mE=C
AEAU 61| Tke 2710 | 10 1| o7 L fB
RS = 835 Tke 9.504 = 3,510 2052 ==
(T KEW)
T 1572 ke 1,000 1 650 1] /mie- 1t
B 1.268]  Tke 2,200 1 150 1] 7 fo
BT TS 21| ke 2.730 1 1.050 I| w7 18
TEy 24 Tk 7944 | 1,296 = mE
BT C 970 ke 1,620 | 072 | BB EHE It
=Thnn 200 ke 1,620 — 92 - BR
YDA 2.900] Tk 3. 456 — 50 | BB o
Y AL 5l ke 2,200 — 900 1| %@ o
e 278 ke 2,800 — 2.000 1| =37 ®E o
GE) 1. COEE. Fik 2 BRESHOLOTT.
2. MmiRlE &Ly MERE] TRE1 T5BRE1 THL) OS5KRETY,
REL. E5OX0BNEAIE TE5E5) & LTOET.
3. MEDEDEXNIL., FiIBLBHOMEELLEL-EFHETEZRLTWET, =L, BIEIZESE]

AEMot=m. IR EBEEARLDIEREEMELTVET,

4.

5l B=FHRE] ITOHT, IRBEORLEVHLDERTLTVET,

FEfi) RU MEISEffitE (SfE. SE. RfE) 1 X, TEESIOAE [(BY (AFL) B3, 8%




